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TERGE SET ;;_ S0 (2) 238 241 1.01 1.50
£ £ % 24 ) 238 247 1.04 | 0.96
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e E L % 20 () 738 220 093] 1.12
P i % 320 (0 318 4150 1,31 ] 1.09
neEEA [EEH ;:I:_ 57?'%8 (2) 318 330 1.04 1.16
L B % 12 ) 715 802] 1121 1.16
AT £ % 288 ) 318 305 0.96 | 1.18
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L EE z 360 ) 358 547 1.53 | 1.44
e —ET TEEr %E 2 (2) 318 397 1.25 1.47
L £an S : ) 358 499 1.39 | 1.35
il i % 80 (2) 358 558]  1.56 | 1.68
e r Q:I:_ 320 (2) 318 336 1.06 1.12
S - 2ir % 320 (0) 318 431 1.36 | 1.39
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AER £a % 368 0] 738 261 1.10 | 1.04
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ST SET ;;_ 550 (2) 238 217 0.91 1.11
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- L ;:I:_ 160 (1) 159 169 1.06 1.01
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TEE ST ;:I:_ 550 (2) 318 375 1.18 1.26
fig7) £ar % ) 198 176] 089 | 0.80
i i % 360 (2) 358 469 131 1.44
= i%{ T 160 (1) 159 184 1.16 0. 86
LB 2ir g 280 () 278 318 114 | 1.32
Pe i 2 320 (0) 318 340 107 1.25
e L = f2>‘20 (2) 318 377 1.19 1.16
om 2if % 80 (2 278 355 1.28 | 1.0
2 i % 200 (2) 198 196] 0.99 ] 0 92
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= 5 XEFT | conn | an —

= B 4 23— 2 |x| BRAR | geag | CRAK | BEOEEE) G s

% H (A) (B) B=A ™"

A =ZEF H* 320 (2) 318 341 1.07 1.06
AT TEH H* 320 (2) 318 343 1.08 1.24
AR =& F H* 280 (2) 278 274 0.99 1.03
A =& H* 320 (2) 318 420 1.32 1.56
RE =& H 80 (1) 79 48 0.61 0.62
AKEI—R +H 40 40 22 0.55 0.33
wE =& H* 320 (2) 318 404 1.27 1.24
RET =& H 320 (2) 318 332 1.04 1.21
ISR =& F H* 200 (2) 198 224 1.13 1.22
A =& ¥ H 280 (2) 278 309 1.11 0.99
EF0 =& H 200 (2) 198 243 1.23 1.01
A [ =& F H* 160 (1) 159 191 1.20 1.06
2B =& ¥ H* 280 (2) 278 285 1.03 1.06
B =& H 360 (2) 358 400 1.12 1.15
=) 1] =& F H* 240 (2) 238 279 1.17 1.18
=YESD =& ¥ H* 320 (2) 318 362 1.14 1.26
BEhNE =& 1+ 240 (2) 238 314 1.32 1.18
FER =& F H* 240 (2) 238 220 0.92 0.84
A EER =& F H* 200 (2) 198 209 1.06 1.06
iR =& H 360 (2) 358 444 1.24 1.49
PR =& F H* 320 (2) 318 352 1. 11 1.55
PR & TEH H* 320 (2) 318 327 1.03 1.28
PR P8 =& F H 320 (2) 318 353 1.11 1.19
2E =& F H* 320 (2) 318 410 1.29 1.22
Bk TEH H* 320 (2) 318 380 1.19 1.26
I =& F H 200 (2) 198 171 0.86 1.15
S EE D3R =& F H* 240 (2) 238 227 0.95 1.03
SEANEE =& H* 200 (2) 198 173 0.87 0.88
BT s = EF H 160 (2) 158 202 1.28 1.20
JELL =& ¥ H* 120 (1) 119 70 0.59 0.68
PIEE— =& H* 200 (2) 198 162 0.82 0.96
R BE =& F H* 240 (2) 238 270 1.13 1.29
BREER =& ¥ H 120 (1) 119 99 0.83 1.21
AR—ya—x | # 40 40 28 0.70 0.46
==} =& H* 120 (1) 119 124 1.04 1.13
FHa—X H 40 40 36 0.90 1.90
EA =& H 200 (1) 199 199 1.00 0.96
ERE— =& F H* 280 (2) 278 318 1.14 1.51
=+ R =& ¥ H* 200 (2) 198 192 0.97 0.83
S5 CHE =& H 120 (2) 118 128 1.08 0.82
A E[E =& F H* 320 (2) 318 391 1.23 1.33
ANE =& ¥ H* 320 (2) 318 366 1.15 1.14
VNN =& H 120 (1) 119 105 0.88 1.14
BHRESHAXI—X | & 40 40 48 1.20 1.00
NI =& E: 280 (2) 278 317 1.14 1.03
AIET EBE x 320 () 318 303 _1.24 | _1.16
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= B 4 23— 2 |x| BRAR | geag | CRAK | BEOEEE) G s

% H (A) (B) B=A ™"

= =ZEF H* 200 (2) 198 165 0.83 1.04
=Rk TEH H* 280 (2) 278 286 1.03 1.09
= =& F H* 200 (2) 198 218 1.10 1.29
=8 =& F H* 160 (1) 159 114 0.72 0.82
J\ & =& H 160 (2) 158 169 1.07 0.92
AKEI—R +H 40 40 31 0.78 0.68
J\iEFa =& H* 80 (1) 79 84 1.06 1.16
58 =& H 360 (2) 358 475 1.33 1.42
FS =& F H* 160 (1) 159 168 1.06 1.01
S E R =& ¥ H 240 (2) 238 330 1.39 1.24
==y =& H 280 (2) 278 266 0.96 1.19
Bk =& F H* 320 (2) 318 487 1.53 1.47
O miaLlll#& =& ¥ H* 140 140 161 1.15 1.41
O i+l =& H 240 240 381 1.59 1.91
O WiLEFIFE =& F +H 320 320 436 1.36 1.38
O haK=Ed =& ¥ H* 280 280 395 1.41 1.00
O INAamaL =& H 320 320 383 1.20 1.56
XHAAR—ya—X| & 120 120 45 21 .50
T ® ST 27,340 (180 27.158] 1. 149] 1.15 ] 120
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ESE BREZH ;3 40 40 43[_1.08 ] 1.18
EMEETER | & 80 (1 79 86 109 111
EERMH # 80 80 69 0.86 | 0.88
EYEERNE | 80 (1 79 78099 | 1.11
REQS B RE # NO) 39 34 0.87] 1.13
BETYA R | # 40 40 40 _1.00 | 0.80
MRRE EMEERTR [ % 40 40 46| 1.15 | 1.45
EEE # 40 40 39| _0.98 | 1.30
EEE A ) 39 47 1.21] 0.92
BRILaTH # 40 40 45 1.13 | 1.35
EER T # 40 40 33 _0.83 | 1.00
EMEETZR | & 40 40 51 1.28 | 0.90
BREINZE [BEEH # 40 40 42 1.05 | 1.03
BRIt FEFH # INO) 39 30 _0.77] 1.03
HHELIEE # 40 40 32 _0.80 | 1.18
1B B EETHAF [ # 40 40 46| 1.15 | 1.08
FIEEE EEXE! # 40 40 28] 0.70 | 0.80
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2 = #H E 840 ___(6) 834 831100 ] 107
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RERTLE | & 40 40 37] 0.93 | 0.88
R E 40 40 46] 1.15 | 0.95
AEIL¥ L 3 80 80 80] 1.00 | 1.00
BEAE S 40 40 45 1.13 | 0.90
BER 3 80 (1) 79 90 1.14 | 1.16
BEFHEWE 3t 80 (1) 79 88| 1.11 | 1.16
ZHBIE [BEE T 80 (1) 79 80] 1.01 | 0.99
BER s 80 80 95| 1.19 | 1.14
BRE #* 80 80 78] 0.98 | 1.05
NOTE A T 80 80 86] 1.08 | 1.03
BEEE 3 80 (1 79 100 1.27 | 0.92
EHBER xS 80 (1) 79 108] 1.37 | 1.30
NIETZ THA F S 40 40 60 1.50 | 1.15
EZER E 40 40 39 0.98 | 1.23
A S 80 (1) 79 791 1.00 | 1.00
BERE T 40 40 45| 1.13 | 1.45
=2 3t 80 (1) 79 75| 0.95 | 0.94
REITE BE5H 3t 40 () 39 2] 1.08 | 1. 31
TEILFR e 40 40 41 1.03 | 0.95
R 3 80 80 711 0.89 | 1.25
BIERZH 3 40 40 30 0.75 | 0.63
EHREAMTE s 40 40 54 1.35 | 1.33
BEATE BERE 3 40 40 39| 0.98 | 1.25
EESS 3 40 40 46] 1.15 | 0.93
T K5 s 40 40 38 0.95| 1.18
R S 80 (1) 79 64 0.81 | 0.82
B 3 40 40 46] 1.15| 1.18
BAKARN [EFERE S 0 () 39 33 0.85 | 1.03
R #* 40 40 42| 1.05 | 1.55
HEEE R 2 40 40 20 0.50 | 0.90
EFHEWE s 40 40 35| 0.88 | 1.03
RILTZE TR #* 80 80 86] 1.08 | 0.98
BERE T 40 () 39 39 1.00 | 0.76
EFHEWE 3 80 (1) 79 74 0.94 | 0.83
HEIEE BERVATLE [ & 40 () 39 38 0.97 | 072
BHRATA7H | & 40 40 44 1.10 | 0.98
LOI3KYR [ H# 40 40 36] 0.90 | 1.00
MREIFE [ERVXTLHE [H# 40 () 39 20 0.74 | 1.10
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EFHEWE 3 40 40 46] 1.15| 1.15
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PONES EHRALIEF xS 80 (1) 79 105/ 1.33 | 0.95
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SEF L A ES 80 (1) 79 48] 0.61 | 0.75
mERERM [REESKRE [# 40 () 39 39 1.00 | 0.85
EES EHRNIEF] T 80 80 112 1.40 | 1.33
fELL BEHREER E 40 40 26] 0.65 | 0.80
PPEEES FER 3 40 40 26] 0.65 | 0.78
EFE LA ES 0 () 39 7] 0.18 | 0.35
EHRANIEF] 3 40 40 30 0.75 | 0.95
PPN FER 3 160 (2 158 192 1.22 | 1.18
£EE s 40 40 43 1.08 | 0.93
EHRANIEF] 3 80 80 94 1.18 | 0.91
ER EESA e 80 (1) 79 18] 0.23 | 0.42
J\Em EER S 80 (1) 79 81 1.03 | 0.85
TR ALIEF 3 80 80 65/ 0.81 | 1.05
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= Sl El NEESET N . e _
2 B & A I Fray | SRaR | BEWIE 5 o
% H (A) (B) B=A |™T"
| F [ B 3 % F H
BELF =S ES 40 40 37] 0.93 | 1.30
RREZE = 40 40 35] 0.88 | 1.33
HAaKeERM RGBTSR [H# 40 (1) 39 20 0.51 | 0.85
BYERER E 40 40 33 0.83 | 1.18
MRXEIFE [SA4775F/1o0R# 40 40 37] 0.93 | 0.98
J—FFH 4 UR[ & 40 40 39] 0.98| 1.10
mEREEN [REFTHYA VR [ & 40 40 27| 0.68 | 0.90
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AR S EEER 3 40 40 42| 1.05 | 1.30
RE S EEER T 40 40 43 1.08 | 1.58
=g SEZER E 40 40 40 1.00 | 1.58
i S EEER 3 40 40 60 1.50 | 1.20
T EA S EZER e 40 40 41 1.03 | 1.65
A EE SAEZER s 80 (1) 79 114 1.44 | 1.63
i SNEZEE 3t 40 40 62 55 50
| 5 B ZE F = 360 (1) 359 463 29 55
= fff = B ¥ B F
K= LE EifE E: 40 40 73] 1.83 ] 1.30
A E M H # 40 40 371 0.93 | 1.00
= a EXTiEs 3t 40 40 55 38 08
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o =B # 40 40 34 0.85 | 0.90
MR = EF I 40 40 26] _0.65 | 0.98
= = 7 = 120 120 93] 0.78] 0097
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2 B & 23— 2 |x| BRAR | geag | CRAK | BEOEEE) G s
% H (A) (B) B=A |™T"
B % - B 3+ 2% =z F
PN ! E: 40 40 77] 1.93 | 2.25
A TEEF E 40 40 47 1.18 | 1.18
HmAa HHE E 40 40 56| 1.40 | 1.55
AR AL HEEL H 40 40 65| 1.63 | 1.73
0 TEEF E] 40 40 69 1.73 | 210
O muA=d  [FEHE # 40 40 88 2.20 [ 2.13
O[O IEHE £ 40 40 50 1.48 ] 215
= & 3 = 280 280 461 65 | 1.8/
_ & [ B 3 & = 3
ST EEETES! E:3 30 30 5] 074 ] 0 78
B 3 5 30 30 59] 0. 74 | 0. 78
A x T B F A = F
Eooie [AFL =3 40 40 75 3] _0.70
A X7 E 40 40 75 3] 0.70
B 3 % _F F
3 40 40 4 03 65
E 40 40 03 65
B 3 % = %
S 40 40 51 1.43
=t 20 40 571 1.43
=B 3 % F %
3 40 40 561 1.40 05
B 40 40 56] 1. 40 05
£ 9 - & B - B3 %
T & EXER X 20 ) 119 21] 1.02] 1.16
BiE % # 120 () 119 133 _1.12 ] 1.05
%-B B % = 240 () 233 254] 1.07 ] 1. 11
=11 = # [Ef]__ 8020 (44)] 7.976] 8 418] _1.06 ] 1.06
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L I No.O
== J % )\?E#EI =+ 3 v =
2 B £ 23— 2 |k| BRAR | geag | CRAK | BEOBEE G o4
3 gt (A) (B) B=A ™"
INEFT BEZF H* 120 (1) 119 66 0.55 0.58
JIHBRE WEEH H* 240 (2) 238 342 1.44 1.01
AE L5 WBEZH H* 320 (2) 318 339 1.07 1.02
EE i WEeEH H 200 (1) 199 212 1.07 0.77
HEIEEE WEEH H* 200 (2) 198 208 1.05 1.13
SR FNFE AL WBEZH H* 80 (1) 79 90 1.14 1.03
BIBE Wwe=xEF H 280 (2) 278 282 1.01 1.19
=IIZER WEEH H 120 (1) 119 154 1.29 1.07
FZEHIL BEZH 3 200 (2) 198 188 0.95 17
w85 F F g 1,760 (14) 1, 746 1, 881 1.08 02
| =84 TR-EM-BREFEHE [ & | 37,120 (240)] 36, 880] A1, 448 1.12 ] 1.16 |




ERESl  EEEl No.1 O

= B | B T o —

2 B £ 23— 2 |k| BRAR | geag | CRAK | BEOBEE G o4
% H (A) (B) B-A|™"
tE EEE E: 40 10 26] 0.65 ] 0.18
BT E &R E 80 80 5] 0.19 | 0.13
g ZEE E] 40 40 4 0.10 | 0.18
EHE—&F |Zaf & 40 40 8] 0.20 | 0.30
KEEE TEF H* 40 40 7 0.18 0.05
KEdiR EEH H 80 80 45 0.56 0.66
M ZE@F H 40 40 16| 0.40 | 0.23
Y= &R E 80 80 43 0.54 | 051
IFETE ZEE s 40 40 11 0.28 | 0.33
2= &R E3 40 40 8] 0.20 | 0.18
EED ZEF H* 40 40 4 0.10 0.08
My s ZEE 3 80 80 29 0.36 | 0.36
BREIRT |[E&Ef E 40 40 3 0.08 | 0.10
AR LEF H* 40 40 18 0.45 0.28
FE REZEFR E 120 (40) 80 72 0.90 | 0.73
REEZEFR 3 40 40 10 0.25 | 0.15
BRAE EEH I 40 40 16 0.40 0.18
AF T £ 40 40 6] _0.15] 0.48
E @ _Ft = 960 (40) 920 34 0.3/ ] 032

EFf] FPPEE _ No.1 1

= B | B ANFEFA

== e I =

= B 4 2 — 2 |&| BRAR | geag| TRR | BEOEEE g s

e e (A) (B) B-A
| T E I B 3 3 = #
~ ABlZ | LERmME =3 80 30 20] 0.25] 0. 33
NOTE T Z iR # 80 80 10 0.13 | 0.14
_ JIFRTE T EH i 3+ 80 80 17021 [ 0.15
— T = 33 240 240 47]_0.20] 0.20
7w ¥ - B 4 & =

I NAE ) 3 0 40 0] _ 02,1 013
B x # Hi 40 40 0 _0.25] 013
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ERf] BEPHE — —= No.1 2
== J % )\?E#EI =+ 3 I 2z =
2 % & 23— 2 |k| BRAR | geag | CRAK | BEOBEE G o4
% H (A) (B) B=A ™"
REILEES I &R Ei3 160 (4 156 184] 1.18 ] 1.20
I B S 80 (2 78 22| 0.28 | 0.28
F B I B E: 80 (2 78 720 092 1.13
I &R 3 80 (2 78 105] 1.35 | 1.19
I &7 3t 80 (2 78 32| 0.41 | 0.69
We | fk I B T 144 144 142] 0.99 | 0.88
I &R E 72 72 6| 0.08 [ 0.21
EES:S I B 3t 80 (2 78 90 1.15| 0.72
I B # 80 (2 78 37| 0.47 | 0.44
O IO eEZs 3 120 120 44 0.37 | 0.34
B & F 7 = 976 (16) 960 734] 0.76 | 0.75
T E TR G2 [ET] 2.216_ (56)] 2. 160] T.132]__0.52 | _0.49 ]

L_£B% - EEHIDMRET arl 39,336 (296)] 39, 040] 42.580] 1.09 [ 1.12 |
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